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b)

d)

Data Structure Using 'C" (1618401)

All questions are compulsory. (H‘l-ﬁ PECENI TG I] %‘I)

[Full. Marks:70]

Marks are mentioned on the right side of each question. (3i® I} Uz9 & <8 3R 3ifdad fFa B1)

Group (A) (YU -Q)

Answer all questions as directed. (2x10=20)

(Frd=mgarR 9 i & IR €)

Data Structure is a :

(A programming language / A collection of algorithms/ A way to store and
organize data / A type of computer hardware)

SCIWA §

(T TR UTST / TENRGH BT Udh TS / STl &l YUgid 3R sqaiyd Hq
&1 TH R/ T YHR BT HICR greddR |)

The prefix form of A-B/ (C*D"E) is
(-A/B*C"DE [/ -A/BC*DE | -ABCD**DE / -/*"ACBDE)
A-B/ (C*D/E) &1 U =7 &
(-A/B*C"DE [/ -A/BC*DE | -ABCD**DE / -/*"ACBDE)

Match the following:

(1) Linked list (a) non — linear data structure
(2) Tree (b) Linear data structure
fraferRad o1 fire o
(1) fefers &t (@) TR et TR
@l @& XRP SeT T

The situation when in a linked list START =NULL is
(Underflow / Overflow / Houseful / Saturated)

g8 fRufa S7a forelt fofos Gt § START=NULL B
(3fETal / MIREN / BREHd / Hqgw)

If the elements '1', '2', '3' and '4' are added in a stack, so the order of removal
would be

(1234/ 2134/ 4321 /None of the These)

gfe @l 1,2, '3 3R '4' I Uh Tb H SST o1l §, Al T BT 5 T g2
(12347 2134/ 4321 /None of the These)

A graph is atree if and only if graph is
(Directed graph / Contains no cycles / planar / Completely connected)

TS U1 U ¢l R Ul SR b afe A ... g
R U / 390 P I T8l 8 / I / T RE A ST 3T 7)
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Marks | CO | BL
2 1 1
2 4 3
2 6 3
2 5 2
2 4 2
2 51 1
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9)

h)

)

Q.2

Q.3

Q.4

Which of the following is the correct way of declaring an array?
(int javatpoint[10]; /int javatpoint; / javatpoint{20};/ array javatpoint[10])
forelt WY 1 T B T el cRIPpT HHTARId | I DI 1 52

(int javatpoint[10]; /int javatpoint; / javatpoint{20};/ array javatpoint[10])

The data structure required for Breadth First Traversal on a graph is
(Array /Stack / Tree / Queue)

T U R SIS UUH Tadd & foT awdes SeT TR 7
@/ XFH / T /&)

Which of the following is the disadvantage of the array?

a. Stack and Queue can be implemented through an array

b. Index of the first element in an array can be negative

c. Wastage of memory if the elements inserted in an array are lesser than the
allocated size
Elements can be accessed sequentially.

ﬁaﬁr@aﬁﬁﬁ?mﬁw 82
%?ﬂ%ﬂmﬁﬁwM%mm@rw{?ﬁﬁmw
qHAT g

b. T TRult & Ugd T FT WHIH THRIAD 8l Tl §

c. mwﬁﬁaﬁwwm&wﬁm%ﬁﬁﬁﬁwﬁﬁ

d. d@l Bl UG ©U I TR foaT o AHhl G|

Binary search is always faster than linear search.
(True/ false)

TSR Tl gHRN WP WIS T I gl B
GHIRISE)

Group (B) (9 -d)
Answer all five questions. (1t Ufa Ui & IR ) 4x5=20

Explain time complexity and space complexity of an algorithm.

ot TEnus o) gHg Sifeddr 3R QI Sfead &) JHsg|
OR (31Ydn)

Explain Complete binary tree.

quf TR &t & e He |

Define Stack and its operation

WP 3R ISP JITA Dl GRHTT B
OR (313dT)

Explain infix, prefix and postfix operation with example.

JCTERUN & 1Y 3ha, ST 3R TREtha 3{TIRT P SARSAT BN |

Differentiate between linear and non-linear data structure.

AP IR RGN T TFAT S g SR B
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Q.5

Q.6

Q.7

Q.8

Q.9

Q.10

OR (S1YdT)

Define Queue data structure and its operation.

F 3R I SR B! g B3|

List terminologies associated in tree data structure.
&1 ST WA ¥ Ydg Wsaldal o gl s |
OR (S{YdT)

Discuss any four applications of stack.

W & fohg! IR SFIVANT R =] He |

Write formula to calculate address of an element in two dimensional and three-
dimensional array.

E;gyﬁﬂfﬁGﬁ?fﬁaﬁﬁﬂﬁ??Rﬂﬁi§ﬁ$¥ﬂ?RaiFtﬁ?aﬁiﬂﬂﬂHaFF#a3ﬁﬁq?iﬂ
| OR (31yaT)

Discuss the advantage and disadvantages of circular linked list.

TPher fiias fore & BrIe 3R THUH R 99 $e|
Group (C) (YU ﬁ)

Answer all five questions. (Y uTer sl & IR ) 6x5=30
Explain doubly linked list in details. List the advantage of doubly linked list over
singly linked list.
ST fRicrs et o1 AR @ qui Y| Tebet fofep &t 71 el R e
o &1 TS Tt BT Y GHaG DY

OR (31YdI)
Write an algorithm to implement insertion sort with suitable example.
SUGa ICTERUN & Y SHR Fic Bl AN I & a4 TP THNNEH ford |
Explain operations of DFS and BFS in detail with example.

SITHEY 3R UHTY & AITa Bl I&T8R0 Jied faEdR I JH=d|
OR (31Ydn)

Explain different types of queues in detail.
fafrs G o1 g B! fawdR 9 Tq=d |

Write algorithm to delete a node from the beginning of linked list.

i 1 778 Gl 1 X3 W TP IS Dl g & folw TeNiReH ford|
OR (31YdT)

Explain Binary Search Tree. Explain insertion of a node in binary search tree.

ISR TG ¢l B AR B | TIART Wl &1 H A1 o A &1 RS He |

Explain Two-dimensional array. How two-dimensional array can be represented
in memory?

fefadia IRoft & guemey | auR | fgfadt aroht & 59 yer uehiia
CRIIRCIERY
OR (3IYdT)

Explain quick sort. Sort the given values using quick sort-
38,81,22,48,13,69,93,14,45,58,79,72
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fo® I1¢ gHamY | fde TIE BT ITUNT H% ST T A B HHIG BI-

38,81,22,48,13,69,93,14,45,58,79,72

Q.11 Discuss Binary search in detail with steps involved. 6 7 2
M IRON & 1Y TR TWiol W AR I =i B |
OR (31YdT)
Write short notes on: - 6 7 2
(2) Bubble Sort (b) Graph Representation Methods
R Hféred fewforr faRge:-

@ dgd gic (@) I ufafAfda & aie
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